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Name: - ____ Class: Date -
Math 9 Final Exam REVIEW
1. thg expression —6° = —216, the base is.... X ne \o ra G\L&\’f
c.
b. -6 4 216 so base 186
2. Which of the following is equal to 1?7
o 4x2" = Y4x| =W © @x2)° = g°
b. —4x2" <QYxl=-y d. -(4x2)° ;_(g)v;-g
3. Simplify: (x“ C o2 _
a. xJ2 c. 25

prad d x

20

48

4. Simplify: 2= 20-{-10)=20+10= 30
X .
ao 2 @ =
b x'° x?

i y o
5. Simplify; “—} 0-b= —
X

. (o I S

b, x '’ d. x"°

6. Evaluate 37 without using a calculator.

1 1
a. A3 b < 6}5 d 9

e (2] = (3 - 55- 2

27 8 L) 27 g 4
a. - g b. 27 c. ) 3 N 5
G b, -5 c. 37 d (-3’
l

9. Simplify (3' ] = 3‘6 =

—
| B
a -3 6

1D:



Name:

11,

13.

14.

15.

16.

17.

18.

20.

21.

“H4r7 -1

oF
34258

evwns (2] +[2)" = (2 = 4, - 32
valuate 3 X 3] 2 3 ‘ITFE’T

4 ~ 2
"9 (SIETE

8 1024
b %7 4 S9049
4°:"fl )

\__/ e
“oEl (et o () - -l
@n'- () =)

Multiply and simplify. Leave answer in cxponential form.

4° x4’ = L}Q (ad d f?x,ﬂo.wn.l:)

. Multiply and simplify. Leave answer in exponential form.

sstxs= 58 (add exponas)
Multiply and simplify. Leave answer in exponential form.
6% %(6'= () (ndd -

Divide and simplify. Leave answer in exponential form.

T = (subinadh oponsik)

Evaluate [—%]_4 (%Jz_ - (—Tlf,j}: ("'—%—;1 - (:]?_—}1:
¢ 2

———

u:

L'.

ID: A



Name:

22.

23.

24,

25.

26.

[\

28.

o]

29.

30,

Divide and simplify. Leave answer in exponential form.

_(:?L: (~7_)3 (gu\oﬁu(} %{'W‘}S>

(=2)

Divide and simplify. Leave answer in exponential form.

3 k3t (subbad afmw&)

4* x3?

Simplify and leave answer in exponential form,
7 3 Ao -
2°x2° 20 pL
2° L

Simplify and leave answer in exponential form.
ly

e CD gy

XD 7

Simplify and leave answer in exponential form.

10% 107 x 10° 10

T10°x 100 o 0 =10
37+[f':?':i:~_‘ij)lj+32 = "%—;;‘ : 39 3 121 :9

(@oixo-6 (6" x N sb® = b° 167 = L7=36
Solve for x: .
64=2" "=t g0 x=6

Will the answer be positive ar negative? o - ()

—a™ "U’ga}w‘f& ,3M }ﬂ(’.(‘+ NE&ATivg

\}J

tlu bate
Will the answer be positive or negatiye? o -0
(—(I)Su v u'hv‘f"— 1S ‘?urf a ‘
-H\g base }c‘xpu,wl,f s Qute so 50 negs = ros"ﬁﬁvt
Weite 6 6+ 6 6.2 6 in exponential notation. ég

3. Write —6 x —6 x —6 x —6 in exponential notation. ("é) Y

Evaluate: 3* = & |

. Evaluate: (—3)5 - ”lLFB

PoS\TWE

ID:



Name:

36.

37.

39.

40.

41.

42.

43.

44,

45.

46.

47.

Eva

Eva

.

x-S
luate: —(-5)°

luate: -6° — Lx b =

ﬂ=-ﬂ-w=—c3

. Write as a product of repeat factors: (

2)

(~5) =S s

i‘%é

i

- (~ gY‘

= (060

Write as a product of repeat factors: — (-a)' = - ( f&) q) ( CL) ("‘1)

4@: 419 =(36)

=122 =2)Y12)={ ‘H

EDED)- @)= €= 6P

12+3[@ 213']

s

W+® Y+ 1L

Sim

) J6 =(14 wm'ﬂb

el

5Q.

51,

49. (4

—

N

4= o answer!

q

48, Whnch of the foilowzng numbers is irrational?

12+ 3] 1 - 1@]“ 1243 [£0+81] =

- = YR
2-50+3x4 228G gase

ol (5 8-

&
Evaluate (—4)™ without using a calculator, = ( )q =
4 2

ID: A

A2
(a8

1243 [(y +8))]

1246[a5) = 124285 =297,
- *%Q- = (iﬂ.:’_\
EBHI\ -
71‘1 729" . /9*\
71“
(- ,
SG
= 'l" = i = ‘1‘\
Fly \!—{.{ S/



Name:

53.

54.

56.

Sity

58.

59,

60.

61.

62.

‘)ifa aﬂ“\
& ©

.
J%'

n

Lo

Simplily. if possible.
T [T g [T O
183 TR v o\T 9r “Jeei T (¢ T
Joot - 08 hecavs fD._S_"‘ 08=006%
s 2
..... N Sz
-0y o= G

N0.0625 = 26x2S= 025 so 0.25 xC2N = 0,0bZS: % Jro,c.r,zs
iy

" Define rational number. A At hes W‘{‘ Lan Lg wﬁ#eyl asa fmo"ﬁ‘or\

Define irrational number. A number WC@V\VIO“ L~€ wriﬂfll ol a ‘p’\uqﬁo(\,

——

0.25)
V,

1:
e

Without using a calculator, detert ne the square root of the following irrational number to one decimal

ace, '&
hee [ 'V
L @

Without using a calculator, determine the square root of the lollowing irrational number to one decimal

place. rﬂ?
,\/— l l l |oo
v
i @D ©



Name:

65. Which of the following represents these rational numbers in ascending order?

ID: A
63. Find the measure of x.
L B L=t
yoa 1(‘72J = -’?',‘
7&+:’£/4' 36
-8 [AY
. rE= 1
A=A
/"ﬂfﬂ_‘h_h—\‘k\
<j_ < 43 [of LN

Ll =m

64. A baseball diamond is 120 ft on each side (from base to base). How far is it from second base to home plate?

6 - 13
:,0 6, = )
8,062 0.G,08, -é—f;—w
omus 0.E, otm /
207
00503 c. 0.6,- ,O8-|—3- g’ th7=¢c?
7 14 7 Y
b £ 080622 g 380805 @*’@‘c
7 Nz - RS ’ Y400 + |4 oo = >
66. Order the rational numbers in descending order. 28 K00 =™
|:§ 'z_lﬂ ]_5 _:_19 ‘l}: l; - ,_’.9 ./S.L C:_ I &0
8 "3 16 11 ) {g) ) = ISl hte
’“] ?1
L . 351 1015
a. 3-3, 11° 16 8 C. 8, 33, TR 16
) 15 .3 [ 315 10 1
@ e e S ST TR




Name:

ID:

67. Which of the following sequences represents the numbers below written in descending order?

68.

69.

70.

71.

72.

3 07,03,7 1,0.7)%,0‘\3
0.61S os1s &
7 8 8 7 .=
a, 013 0.7, 13 C. 13,0.7, 8,0.13
8 7 7 8
b. 13’ §,0]3 0.7 d, §,07, 13° 013
Which point on the number line represents the rational number %’? M
e = 0.8
A B C D
—— e > Letweon
5 -4 -3 -2 -1 0 1 2 3 4 5 0 and |
a A {;} C
) b. B . D
. 18
. . . 18 . 2
Which point on the number line represents the rational number 3 ? 18 - qu = L} %'
A B C D
o t B ! -8 &~ ; - — i
-5 4 -3 -2 - 0 1 2 3 4 5
a. A C
o B @ »
Which fraction is equivalent to —~ 30 . T 5 \
6 A gy = 7
a. T0 C. P 30;2’ é
1 2
b. 3 d. 15
Determme the mixed number that falls betweenl 2 d“1] IJK\‘ ‘ 20 Od\-d l 20
a. J—~ = 1.€0 Qc_. 17 =125
3 - o
b 15 = IAY d. 13= |20
What is the value of(=5.6) = 2 [~ Q./l) X ];_;’_3:’ —
a. 1.02 ' — (. 298/
b. 2.12 -2.8 = (~$7€) 358

H

-8 +£.7€
298

"

el



Name:

73. Whatlsﬁé-S-'7 = _._.-

279 371{

m\~9

a.

b.. /

Wwis pjw

6" 3” 2 )
74. Calculate — = = Z.xL >( |

19
3
14

75. Evaluate ik) 2 '

La/ 9
1
b 11

&

=

—
=2

b

o
WL Wl

1~

77. Evaluate%+— = -LL+1 = Lﬁ ‘ -
39 A Ay e

13
/' 14
[(\_jfr
w2 ]x?
78. What is the resultof———~
9 6;3
23 2 )
a. 54 | fi ; \
5 At L
b3 [ 15/

(6 e, [y o
76. Whatls[i‘—i‘]x“lg-’ (w m) IS
"|| ’

Lo (! )
{
o 3
© 4
2
d. 3
(o3
e )3
1
d. 3
Ve
(f;; \
.
9
5
d =
| Y
‘ ;?:' 5 Y
14
I T
45
d s
[ C‘: \
© g
2
d. 3
o ol
T
13
d e

ID:



Name:

O

80.

81.
82. 1sn=105  [hn i lv0
a. 1575 IS ’ Ry c. 90
b. 120 { ( d 7
{13 7 -
8. -1=19
L -9 b :} o T c. -10
1 [‘.‘."1 10 \; Lw [ ,‘ =0/ d 9
s 20
84. Ty-dx-3=24
a9 c. 7
b -9 d. -7
5. Il‘c+2x +4x=-14 , thenx =
k A ' -2 - w_i c. -1
7 ] 7
b, == = d -
4 ¢ 4
2 £
86. (v n)_lz
{.1‘} "j'i_‘.'_‘ c. 6
b. 4 —3;1 ] {1 T d 8
ey 2
87. Solve: %x--s_f}--lf’u
(o 12 e -
b, 12 d,. -2
88. If 5 +4="7thenp= _% L -
a. 0 .._.,-_‘ l c. 6
b. 4 Yo 3 N
h o f : Y -
89. Solveforx: x+4=-8 (' = ‘1"

.2 -
What 1s = = |
D 2

5
i i
’\\.

a. ?I
23
. = d.

Ln
=

. . . 3.
Written as an improper fraction, 22 is

. . 17 . = 3
Written as a mixed number, ——52 is oL

-4

¢ i ~ix

— 7

REAAN g x

. Lo IS
9, 18 190
7T 0
¥ 4 +3
;i:_?_ t &t
{ -4
‘ﬂél 2 2% 1O (1)
3 [
3z ¥ =120
<3y :
x50 | 122
| Tev
1%
e
\ | 2



Name: ID: A
1y {;’ f 4, 27
f,"\ j PG . v [{&
90. Solve for x: Aol '| .
S SR T
T L4200y N 1o ,
5 420 ke 7 a0 i Woig 1 ‘ [t i ( L0
1= Iyt [ 4 a
91. Solve fory ‘\_ e Sy ! ."'.’;..\! !/j_f)p
30y +35(50-) = 1600 ] 50
S (S0
92, Solve; 6(2+a) = LA~ G 0\ ol { S,
L eIy / ¢ l.}'g_ 3
93. 41 e o
Solve: 0.02x -0.3=0.015 +0.011x a-= ,j BN P 3.0 IS 0l
L x F (7 Y 4 P e = 0 g o
94. Solve: 3x—2 =6—x / ,/é 3 ﬁ." el 7y il -4} G0}
12 i = - ¥ S 2 2 A ; 4.3
_ 7‘? AT (R e " 03IS
95. Solve: 6(x—3)+6=2(x+13)-2 e
. 96. Which statement is FALSE for the polynomial 3x fy—5x+12 .y \ 2’ _k 5
(l_J__ It has coefficients 3 and 5. 3 ruwl ~g c. It has variables x and y. ? s N )
b. It has a constant of 12, d. lthasexponents2and 1. @& '~ b l‘""* 2b L
EATLE 2F 4 D4
97. Which of the following equations is correct? <230 1 -3
a. !/4.0)2)[/9);312) = 36x’y’ 3{01,“3} (:.w ( 4x° jf 9y’ \] - 30x r').'5 L’\, 163 L
\ N — N \ I 3hyba ¥ i ”j 1‘ J“,'}I
b. [—4x2y3 j[9x3y2) - _36x%)° 3%3 d. (4x 1;[ Ox? J = 36xy .
’ oS 2 Uy 7= 2
98. Simplif 2/?;\/% @ &, (O - 280% - H‘m} o ] i 4
im o -3 - = - = s
mplify: 2a(3a” -5} a) = i’ -{0a - A28 10 T
(k |} 20° -28a" — 10 c. 6a’-24a* ~10a LS
*b, 6a’ —32a% — 10a d. 10a° -28a" - 10a
99, Simplify: |8 -1t) )4 (2x+5) —(3\ . 10) = % ‘-1 -1C
a.  —Sxi - 9\?—'—4 'k_(;} -,::J O — i(} - Y- "!j;
b, —5x’ -9+ 16 d. 5%’ +9x+4
2057 y" +40x7)° - 12x7° “b ? " 3 LY
. : Y T 1 v
100, e § ~10y” 130y
a S5x%yt - xtyT + 377 c. 527y —10x"yT —3x%y7
(b/ —Sxp*— H]_y"t +3x°y? d. 5xy’ - 10y —3x%y’
107, Simplify. :
iy E . ] i3 2
Loy’ = T oy Fxy
102. Determine the degree: 3x” —dx’ 7,
b S [
2 S ( A

10



Name:

103.

104.

106.

107.

108.

109.

110.

111.

112.

113,

114. -

115,

117.

—7+ 10y —(w+8z —Sp42

Simplify:

\

Kl 2 z
M —3x+5x-x"—1 = 7(/4’275/”'l
O

L

Simplify:

il S
b By w2, [% Hj :

25 +5)= =2 t- (0

@032 Ex-§0

1D; /

YN

2¢(3* - 7x-9) = b -|Ux*-18x

Add. 2

f 4 = = ? = B

os)a(wes)- X2 SEXCHS = 2x

(_3\3/*2)6 &7 )—L(—ny—3x2+5y2}~ __\Sy/;t}};ﬁj}_\a}‘jé%ligjl - ,_17» 4-21&

[—sz — 5x +3) + (7x2 —2x—4) * (3-’f2 +x _5):‘ &i,cﬁfééiﬂ%
TR b=

2— —_— —
L 3)( —5x+]) ](x 2x 5) —31,2’57_”"’1')\,3-4”27—*5 - A')L "Z)C’{“,é
3" +2x~7 —% 3x% +2x - 8 2 iy B0 RO 0, BV
G
6x I—]2y
= “Ox-by

552_5:10 ~F )

e e R

181" = 150° +12 3

n’ n "4 bn '—SV\ ‘T“Lh’\ L+ |

In which quadrant would you find the point (1, -2)? E

a. 1 ¢

b1 PErUNAY s P

L

11



Name: ID: A

) 118. 1n which quadrant would you find the point (-3, 4)? I
a c. 1 e B
(bhy I _ d 1V
il v
119. If a point (, y) 1s in quadrant IV, then
5 x>0,y>0 c. x<0,y<0
(b) x>0,y<0 d. x<0,y>0 <
120. Is(-1,5) asolution to th ti 3x+27 ZPO}S* “
. Is (-1, 5) a solution to the equation y = -3x , )
’ st S (L) i eqn
121, Plot A( -2, 3), B (-5, -1), and C (5, -2) on the grid provided. J y= A+ 2
Ao 5= -3CN T
T 5N 3 4 2

& )
e=¢

122, Find the coordinates of F, G, and H.

12



Name:

123. Graph the equation and identify the y-intercept. = oﬁw/“‘
1 . = i. P ol
y=-3x+2 iy =2 ope ;4 rog b
X 3
i\
\
\L\
I} _“ —c} I j e ]

-
T

124. Write an equation for the graph.
. . J

Z

—

477

'.\112, “’fq
J X

x + 4

125, 1s(-7,4) asolutionto 2x—Ty =147  5ub (r";'.j) b e4un

126. Complete the table of values for the equation 4x + 5y = —20
o

127. Graph x—4y =

Ty o) ¢ Sy

0 |-4% (Ol [\\1 1w
-v0 Gu < dw
-8 vy
R

8 on the grid provided.

Doy - 7»5 =Y
D7) = 1

ID:

% \ j
Ha 4 Sley =2 \ ~l-2s S0 -
Wy 4 Cle) = e Ly 1y
I 4 Lf“,(_ + g{ ) RS o)
=5 b %)“?;}D
’p«: = L0
0 <
Sy
domte— = 4 X H" - g 1 !'fijf
e~ % ij =
. 1
xX-8= '%‘j
Lf !
Ly-)psy el



Name:

128. Graph x =3 on the grid provided.

/
129. Graph y =-2 on the grid provided. /
LW
- j/;
; ; e " ey 0 Yy
% y 4

130. Graph ¥ =x on the grid provided. -
. %» x40

D e e —— e e M’;_‘

v

131. Write an expression relation y to x.

x O [1 2 3 4 5:21*}

y=|]|1 3 5 7

132, Write an expression relation y to x.

1 J2 I3 4 \j:‘%x%’L

x O
y 2|-1 4 |7 |-10

14



Name:

ID: A

133. Barbie and Ken decide to leave their campervan in Bedrock City and rent a car for a two-day side trip to
Riverdale to visit Betty and Veronica. The cost of renting the car is $45 per day and $0.30-per km.

a) Write and equation relating cost (C) to the number of Km (n) travelled, n one d oy C=0Dn+148

b) Calculate the cost of their day trip of 576 km.

C = 0.30(570) + #5 .
e
R T ‘ﬁ!/l —f——t——t
78 ¥
—}
4 //-' .
134, /M;uch the equation with the graph: .
An/ y=x ¢ x+y=1 =t \ - - gi +0
g e T
A
/ SIOFC ==
i {
— 1 —t .l} 1 1. -'i s e =
2 /5lj~:vw( <7
135. Match the equation with the graph:

. 2xt+y=1 c. x+2y=1
@2){—)/31 d x-2y=1|

136. Match the equation with the graplt

+ T T ¥ 1 +
" 1t
ot
A Y ‘ 4
N | y N

NG T

~
<
Il
a
>
_|
NS
[y
il
W)
S
)
[\



Name:

137. Determine the y-intercept, if it exists.

138. Determine the y-intercept, if it exists.

(1KY \), w\l{

. |
E )

: 3 2 3 2
i . 4 — Sy =
139. Given —2x \/WLSy '\5'):;&3): 177,
(2) Simplify the polynomial above.

(b) Write the polynomial above in descending powers of x.
(c) Classify the polynomial above as a monomial, binomial, or trinomial.

3

(2) l o nz. e ‘x\’j

(b)

’ ‘Xﬂ'qd

© ’]’H - «f

16



Name: ID: .

__140. Expand ( )(4y+ I) using the distributive property.

a. =Tt -3y A2t - 7}“) c. =Ty+]1
(({b., - 12vF = 3w J - d. =12p--1
e i3

141. Use the distributive property to expand (5.2x) (—Sx +2). T 7 IS.6 X+ 10 tx

a. 15.6x" —10.4x (& -15.6¢" +10.4x
b. 15.6x* +10.4x d. —15.6x+10.4
YN X S L 1Y
142. Apply the distributive property to simplify 2x(x—4) Cm) ”1"‘__21. ‘ 5 e fm'_-j:
“\ ” e s N .
143. E\pand and simplify: U) + s]{;l l \: f""”f Z| [ Lff:' w = 20 Y
i 1/ D —4p -21 ,,_ c. p -Llop—A )
b. p*-10p-21 d. p +4p-2I
o/
144, xpuand and simplify: (4~ »}(7 - 7)
) ‘i E) fy o ) 3
oy 28-1lr+r \th,,f_” o c. 28+43r+r
b 28—t AY Il d. 28+ Hlrsr
Z —l!r o™
145. The product of (7x — 1)(2x +3) is
(\_l) 1dx? +19x =3 [Hx) F 2l ~2x -3 c. 14x*—19x-3
2 ol R 1 Ay
b, 14x” +23x )3;_3 ?L{xli—}ﬂl'_B d. 14x” —23x+3
146.Mlt]1\-77+3- oy
utply G- 2% +3) = Un'ddx -6 = 212°-5x b
hY R‘\_ = 2.
147. Mu]tlplyn W43 = 26 #3xu b ~bx® = 2y’ ~24-br
148. Which multiplication statement is 1'eprcscWarea model below?

I (M) = 127 Hbx

3x
4x 2
L (3x) (4x+2) =12x7 +6x e (3x)(4x+2) =Tx +2
b, (3x)(4x—2) =12x" —6x d. (3x)(dx—2)=Tx-2
149, Find the grealest common factor of —7x*y?, 14xty, 28x°y" 7 2
2 Y
a. Txv c.  Txy J
b, 7x'y° ,__-],-'}1__/: iy
150. TFind the greatest common factor of 12a¢*b%c?, =36a" b cC, 144a° b° "
a. 4a’bic! _ 12a°h°¢’ S
b, 12a°b*c’ d. 6a'bc o po



Name:

151, Finish factoring the expression below.

h: h,r1+]"u—z_w(2ﬁ ‘111»(9)
Ty 2y

152. Calculate the area of the triangle shown.

,nx+1).~+§\
2

A\o\r\

! Sy
& I ‘-\‘“—I-
v M=) x‘\‘.
1 e
1342
153, Factor: > +9r—36 t ’2(’
R 12,3 & «+12)¢-3)
b (1+2)(t-18 ’ d. (t-12)(t+3
CAEIH )Y (1 12+
____ 154, Factor: v’ —13v+36  a 3

a  (v+3)}v12) 13
b. -3V -12)  -9q,-4
155, Factor: =24 —2x+x? 1(.\" ‘1)(\; LJ')
. (6+x)(-4+x) 7(; '.'_Zl‘ﬁ -24
b B+x)(-8+x) + -2
~byy
156. Factor: =307 + 155 + 18
a. —3(b-2)(b+3)
b.  =3(b+2)(b-3) -30’%’)&_‘_\)
157. Factor:
@ =5(m+2)(m —6)
b, =5(m—-2)(m+6)

158. Tactor: §% — 335 +32
X131 + -33

.,

159 Factor x° =k —20 completely. x -—Lo
a. (x-2)(+10) +
b. (x—4)x-5)

“5m’ +20m+ 60 =5 (-l —12)
- S{m-6)(mt2)

(- s*)(u H)

O v-9r-9)
d +4HHv49

(=3+x)(8+x)

(2-¢)0u ”)@) (~6+x)(4+)

x -&
-3(?<ﬂré);z:ﬁa ~3(b -
' —3(b+ 1)(b —6)

L O]

(b +6)

%
c. —Sm—dH(m+3)
d. -5S(m+4)(m-3)

—32, -\ ( (S"S?.)(Swl) "

@ (x+ 4 —5)

(x=d(x+35)

D: A

bhx"+SSxpe ¥ 0

§6:° 16Tt 10

33}(/24- ?ES'L t g

160. Factor completely. —3u* - 6u + 144 "3(\*"*'24«-‘!?() :-;9 k\:‘"3(u*?‘)(u”£’>'

8,6

161. Which of the following is a perfect square trinomial?

a. x'—4x+16
b, x" —Gx 8l

o

¢ x'-6x+75
P 14x -+ 49

18

(1) (3-7)

= (x-T)*



162. Factor &2 -32 =

A=xt-16

2{x"-4) = (x+2){x-2)

163. Determine the missing dimension of the rectangle.

P-ib = () (x-4)

¥ A

a. x—4

() =+

___ 164, Factor: J6p° -8l1g°
a. (4p—99)°
b (4p+99)°

165. Factor: 49s* — 64¢°

c. x'+4
d. x?-4

c. (16p-9g)(p -99)
(1) (4p+99)(4p - 9¢)

ey T3,

{13
1 b=t
‘\5

iD:






